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Kl KJET13.9~16.4 C, ERET11.1~12.7 COFPHIZH > 72,

a4y - RFBT 31.9~33.4, JEE T 33.6~33.8 DHiHICH > T,

pH : 7.94 ~ 8.06 DHIFAICH V| SATKEMHKIEEE (7.8 ~8.4) Ajfi/l= LT\,

COD : 0.2 ~ 1.4 mg/L OFPHIZH Y | 2 CREMKIEHE PASHMENTE : 2 mg/LLLTF) %1l

7z LTz,

5) DO :6.7~10.3 mg/L OFPHIZH Y | 2R CKEMKIERE (6.0 m g/l LLE) A7z LT
7=

6) 7T brkBEIX 8.8 ~30.1 ml/m DFPHIZH -7,

7) RSN ATHB XL T OfEANICH o 72,

U UEEREY v (PO.-P) : 0.4 ~12.6 pg/LL
T oE=THEZEHE (NH-N) © 3.9~28.3 g/l
HAEEREZE R (NO:-N) : 0.2 ~0.5 ug/L
iHlEREZ= 3 (NOs-N) : 2.4 ~14.4 pg/LL
(ZRB=FX 6.8 ~ 43.2 ug/L)
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